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00 2-1

00
00 {(u,v);v>0}0000000000 p(u,v) 000000
0Ods? 0000000 ITO

ds® = (1 — a® tanh? v) du? 4 2abtanh? v du dv + a® tanh? v dv?,
IT = tanh v sech v(—a® du? + 2abdu dv + a* dv?)

0000000000000 ¢, b0 «®?+6?2=10000000

a>0000000000000000000 (&,7n) — (u,v)O

ds? =d&€? +2F dédn+dn?, I =2Mdédn 000000000
ooo

» Dini0000 «?24+02=10000
> K =—10

2020/12/17(2020/12/24) 2 / 13



00210000000
oooQ

u= =&+, vz—%—%n (&: )

ooo

ds® = (1 — a* tanh® v) du® + 2abtanh? v du dv + a* tanh? v dv*
= d¢% + 2(2tanh® v — 1) d€ dn + dn?
= d€? + 2F d¢ dn + dn?,
IT = tanh v sech v(—a? du® + 2ab du dv + a* dv?)
= 4tanh vsechv d dn
= 2M d€ dn
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00 2-1

ds® = d€? + 2(2tanh® v — 1) d€ dn + dn* = d€? + 2F d¢ dn + dn?,
Il = 4tanhvsechwv df dn = 2M d€ dn

» F =2tanh®v — 1, M = 2tanhvsechv: F2 + M2 =1
> F'=cosf, M =sinf (0<f<7)000 6000000

ao

» O¢y = sinb.
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sinh?v —1 1 — cosech? v

F =cosf =2tanh’v — 1= — = —,
sinh“v +1 1 + cosech” v

2sinh 2 h
M =sinf = 2tanhvsechv = — SH; v _ _=cosec 1)2”’
sinh“ +1 1 + cosech
2 2e7Y

0
tan — = cosechv = = -
2 eV —e v 1 —e 2

== (5 )

00
> 0 =4tan " le ¥ =4tanlexp (5§ + %n)

> 95,7 = siné.
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00 2-1 (00 Chebyshev O)

00
R} 00Gauss OO0 —1 00000

ds? = du® 4+ 2cosf dudv + dv?, II =2sinfdudv

000000 (w,v) 00O Chebyshev D00 OOOOOO0OODO
o060 (0, 00000 (w,v) OOODO

Oup = sin

gbobobobob
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0021 (00000000)
do? := —a?du® + 2abdudv +a*dv? 0000

ds* = (1 — a®tanh® v) du® + 2abtanh? v du dv + a* tanh? v dv?,
= du? 4 tanh? v do?,
IT = tanh v sech v(—a? du® 4 2ab du dv + a* dv?)

= tanh v sech v do?

ooo
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oo
0000 p(u,v) 00000000 ds? =e? (du? +dv?) 000
0000000000 o0 (u,v)0 C*-0000000000
000000000 (&) (uwv)0ODOODODODDOOOO
ds? =e®(de? +dn?) 0000000u=u(&n)0v=10v(&n) 0
0000 (69 00000000000000000
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0022(00000)

00
goboogooo
ds® = e (du® + dv?)

00o0o0o0ooooooo0oooo (wyv) DODODOODOOOOO

00 (0000 §15)
ogoooooooooooooooooon

2020/12/17(2020/12/24) 10 / 13



0og 2-2
0000 u=wu(n),v=on) 0000
ds® = €27 (du® + dv?)
= 62”((u5 dé + uy dn)? + (ve d€ + vy, dn)2)
= 620((u§ + vg) de? + 2(uguy, + vevy) dé dn + (u?7 + v%) dn?)

2 2 _,.2 2
Ug + Vg = Uy + Uy

S (EnOOooooo &
Ugly + vevy = 0.
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00
(uv,v) 00000000000 (¢, 000000

e T ggog (" T
Uy = —U¢ Uy = V¢

> OO000000DO0O0O000Ow,v0 ¢nOOoooonoO
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00O 2-2 (Cauchy-Riemann)

00
(u,0) 000000000 (57 00000000 24 >0
N (Cauchy-Riemann 0O 0O 0)
Uy = —Ug
00

0000 €+v—In—u++/—Tlo 000
(¢ 000000000 OODUoOOoOn)
< Cauchy-Riemann OO0 0O O0ODO0O
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